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10.

11.

Instructions to Students
This Question Booklet contains 90 questions.

All questions are compulsory. Each question carries
one mark and there will be no negative marking.

Each correct answer will be awarded one mark.

Write your Eleven digit roll number as allotted to you
in the admission ticket clearly on the test booklet.

During the examination,
* Read the questions carefully.

e Completely darken/shade the relevant oval
against Question No. in the OMR answer sheet
using blue/black ball point pen. Do not try to
alter the entry and not to do any stray marks
on OMR Sheet.

¢ Example:InaquestionbookletifNo.3isthe correct
answer for Question No. 20, then in the OMR
answer sheet, shade circle 3 using blue / black
ball point pen as follows.

20) @ @ . @ (This is an example only)

If more than one oval is darkened for a given
question, such answer is treated as wrong and no
marks will be given.

The Student and Room Supervisor should sign
in the OMR sheet in the space provided.

Candidate should return the answered OMR sheet
only to the Room Supervisor before leaving the
examination hall.

The calculator, mobiles and any other electronic
equipments are not allowed inside the examination
hall.

English version of the question paper will be
considered as final, in case of any dispute arising
out of variation in translation version.

Rough work can be done in the place provided in
the Question Booklet.
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PHYSICS

The velocity of a car is 18ms™. Its
velocity in kmh' is:

1) 5 kmh’

2) 50 kmh'!
3) 64.8 kmh'
4) 70 kmh'

The amplitude of sound wave
determines its:

1) Period
2) Wavelength
3) Frequency

4)  Volume

The natural tendency of objects to
resist a change in their state is:

1) Force
2) Inertia
3) Mass

4) Steady state

The potential energy of an object with
mass 2kg at a height 15m is:

1) 2947
2) 2707
3) 2257

4) 1477

3

2.

3.

4.

NMMS-SAT-P2 (K-8)
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2.0 %08 @ent 18ms™ 3, kmh' 89
FON wen:

1) 5 kmh!
2) 50 kmh'
3) 64.8 kmh'!

4) 70 kmh"!
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903:
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IZoneh 35:@_ %3033 WRRRTBR 3RO
DR BRCE:

1) 2o
2) =BT
3) oo
4) dgo o

15m £33 =3 2kg TZToocH, RO
TEAN T, 3G

1) 294)

2) 2701]

3) 2251

4y 1477

Use E-Papers, Save Trees
Above line hide when print out


www.inyatrust.com
www.inyatrust.com

NMMS-SAT-P2 (K-8)

S.

A particle moves 3m north then 4m east
and finally 6m south from its initial
point. Then its total displacement is:

1) Sm
2) 10m
3) 13m
4) 18m

One Hertz is equal to:

1) 30 vibrations per second
2) 60 vibrations per second
3) 60 vibrations per minute

4) 30 vibrations per minute

Two persons pull a box in the same
direction with 15N and 25N. If the net
displacement of the box is 20m, then
the work done is:

1) 3007
2) 4007
3) 5007
4) 8007

According to Newton’s third law of
motion action and reaction acts on:

1) Different objects in opposite
direction

2) Same object in same direction
3) Same object in opposite direction

4) Different objects in same direction

4

WOTH B 354 STORT VOWINOT YT aééﬁ
3m 302 Fo3T TRy 4m @8O WoITN
2] sa% 6m O[S WTT el m@ﬁwg&s:

1) 5m

2) 10m
3) 13m
4) 18m

2,000 TEF Q0TT:

1) o Fdo&R 30 30ITIND
2) o FFoRR 60 FOTIND
3) 200 dwRE, 60 FoTIND

4) 2.0 T, 30 FoTINW
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1) 3007J
2) 4007
3) 5007
4y 8007
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The average velocity of a particle 9. «ToRs Jen ‘W’ DIy A0 JeneeI e
moving in a straight line with initial ‘a’ 3podR womd e ITY TelohQ ‘t
velocity ‘u’ and constant acceleration Béomne o BOIWS WWT ToeRO Jen:
‘a’in ‘t’ seconds is:

1) u -+ a 1) u -+ at
2 2
+ +
2) u + at 2) u + at
2 2
3) utat 3) utat
4 utt L af 4 ut+ L oaf
2 2
The Velocity of sound in vacuum is: 10. dzRFSTY 3T Hen:
1) 330 ms* 1) 330 ms’!
2) 343 ms’ 2) 343 ms’
3) Oms’! 3) 0 ms!
4)  10ms! 4) 10ms’

The temperature range of clinical  11. 2Tscod TIRTIR T T:
thermometer is:

1) 0°Cto 100°C 1) 0°C ooz 100°C

2) -10°Cto 110°C 2) -10°C oow 110°C

3) 0°Cto37°C 3) 0°C ooz 37°C

4) 35°C to 42°C 4)  35°C cog 42°C

The number of images formed when  12. %@ IRNIL TIJFrone SIS dnees 72°
the angle between two plane mirrors YR LVOLRMLE J3Wowns Bos3:
is 72°:

1) Three 1) e

2) Four 2) ey

3) Five 3) m

4)  Six 4) =B

5
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CHEMISTRY TTROHTTVY

13. The model that explains “the energy of  13. “Sg, s3oQ I ITHIIIR ad%&‘@
an electron remains constant so long as 33w P&dmﬁdagzﬁ” QOTH LTORT TITO:

it revolves in its own shell” is:

1) Rutherford model 1) DTTZReTE TRTO
2) Bohr model 2) BReT® =PTO

3) Goldstein model 3) RReFRET BR[O
4) J.J. Thomson model 4) &8 PRI IPTO

14. If the mass of a gas in discharge tube  14. JTRETe TEIOPYR WIVT W& TN

is heavier, then the deflection of anode Toon, $0LONY NIONOID:
rays is:

1) Least 1) =FHNTTS

2) Highest 2) NoFONITI

3) Moderate 3) =OGOTRTONITI
4)  Constant 4) R SN

15. The percentage mass of Nitrogen in  15. HNO, 398 moxs3s 3esme IR000:

HNO, is:

1) 11.78 1) 11.78
2) 25 2) 25

3) 2222 3) 22.22
4) 12.64 4) 12.64

6
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16. In any given sample of chlorine, the 16.

17.

18.

19.

ratio of atomic masses of two isotopes

is:

)
2)
3)
4)

The instrument used to find atomic 17.

mass accurately is:

)
2)
3)
4)

The process of Decomposition of 18.

Mass spectroscope
Optical spectroscope
Microscope

Mass Microscope

limestone into quick lime is:

)
2)
3)
4)

A balanced chemical equation among 19,

Exothermic
Endothermic
Isothermic

Neutralization

the following is:

D
2)
3)

4)

HgO, — Hg+0O,1
2HgO — 2Hg + 0O, 1
2HgO, — Hg, + 0,1
2HgO — 2Hg+ 01

7
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20.

21.

22.

23.

The chemical name of epsum salt is: 20.

1) Magnesium sulphate
2)  Sodium sulphate
3) Calcium sulphate

4) Potassium sulphate

Match the following: 21.

Subshell  Electrons
A. s a. 10

b. 2

c. 14

B.
C.
D. d. 6

- T

1) A-b, B-d, C-a, D-¢

2) A-c, B-a, C-d,
3) A-d, B-c, C-b, D-a

4) A-c, B-d, C-b, D-a

The chemical compound used to  22.

prevent the growth of bacteria and
fungi is:

1) MgO
2) SO,
3) CaCoO,
4) CaO

2

The gas flushed into pocket of chipsto ~ 23.

prevent rancidity is:
1) H,

2) He
3) CO
4) N

2

2
8

DTT® OTOT THHOPIT BT
1) Honedodo mSeer
o
2) Rpeloo 5@1@@3@
3) m9oho FSeer
~ %
4) IpwAcHo FSeEF

BLRODY WB0N0:

NTB=L 'aé%a‘m*a

A. s a. 10

B. p b. 2

C.d c. 14

D. f d. 6
1) A-b, B-d, C-a, D-c¢
2) A-c, B-a, C-d, D-b
3) A-d, B-¢c, C-b, D-a
4) A-c, B-d, C-b, D-a

WREOCST® By deogne WITRERODRY,
RN WIS ToTOPRE FOOIwE:

1) MgO
2) SO,
3) CaCoO,
4) CaO

2

5’5’3&3&&3@033334 35”71%@3 SES QT
TPYTY TN DT WA:

1) H,
2) He
3) CO,
4) N,
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BIOLOGY

24. A biological molecule has to move out

25.

26.

of the mitochondrion matrix to the
cytoplasm to enter other organelles.
The number of membranes it has to
move across:

1) One
2) Two
3) Three
4) Four

The following is an example for
parasitic food chain:

1) Tree — Fruit eating birds — lice
— Fungi

2) Detritus — Earthworms — Birds
3) Grass — Rabbit — Wolf

4)  Phytoplankton — Zooplankton —
Fishes — Aquatic Birds

The correct matching of minerals and
their function:

A. Sodium i. Reduces cholesterol
deposits

B. lIodine ii. Controls blood
pressure

C. Iron iii. Transports oxygen

D. Zinc iv. Prevents goitre disease

1) A-iii, B-i, C-ii, D-iv

2) A-iv, B-1, C-i, D-iu

3) A-ii, B-iv, C-iii, D-i

4) A-i, B-iii, C-iv, D-ii

24.

25.

26.

NMMS-SAT-P2 (K-8)
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A. RBreRcko 1. é@dmg)@@ BonT=,
3R [RRDIT

B. ©cdeeRs ii. O3E L3BE 0300w

C. 3 jii. @3xT® momecdd

D. == iv."¢now SwenTwy,
3Nz

1) A-iii, B-i, C-i, D-iv

2) A-iv, B-i, C-1, D-ii

3) A-ii, B-iv, C-iii, D-1

4) A-1i, B-ii, C-iv, D-1
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27.

28.

29.

30.

Yeast is added to grape juice and is
preserved for a long time to prepare
wine. This process is:

1) Anaerobic respiration

2) Aerobic respiration
3) Pasteurisation
4)  Emulsification

The correct pair of parasites among
the following:

1) Nepenthes - Insects

2) Hookworm - Mushroom
3) Earth worm - Roundworm
4) Cuscuta - Tape worm

Cell Membrane is described as
semipermeable membrane because:

1) It helps to maintain the shape of the

cell

2) It provides internal frame work to
the cell

3) It plays important role in the
synthesis of proteins

4) It controls the movement of selected

substances in and out of the cell

The true statement regarding Fungi:

1) They are prokaryotic

2) Cell wall is composed of cellulose
3) They reproduce by spores
4) They are parasites

10
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31. In the given diagram of Amoeba
the parts labelled as A, B and C

32.

respectively are:

" L
A ' . i 1 .’ v »
- L t -
bl ‘? [] .'
P ./ 7 v " '
L L
%; ; ! /-f ~ .
. [ ; N -
> - - -
e i | [N
. rt! &
o v .
Rl [ A2
[4
1) Pseudopodia, Food Vacuole and 1)
Contractile vacuole
2) Pseudopodia, Nucleus and Food 2)
Vacuole
3) Contractile vacuole, Food Vacuole 3)

and Nucleus

4) Pseudopodia, Nucleus and 4)

Contractile vacuole

Unused carbohydrates in the body are ~ 32.
stored as:

1) Proteins 1)
2) Vitamins 2)
3) Minerals 3)
4) Fats 4)

11
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33. Incockroach carbon-dioxide is diffused 33.

34.

3S.

out of the body through:
1) Trachea

2) Tracheoles

3) Spiracles

4) Alveoli

Chlamydomonas respond to light. This  34.

is due to the presence of:

1)
2)
3)

4)

Viruses insert their genetic material  35.

Stigma
Pyrenoids
Cytoplasm

Contractile Vacuoles

into the host cell:

D
2)
3)

4)

To reproduce
To produce antibodies
To avoid antiviral medicine

To obtain food

12
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36.

37.

HISTORY

Choose the correctly matched group

of answers:
A. Harsha (a) Chand
Charitha Bhardayi

B. Vikramarjuna (b) Kalhana
Vijaya

C. Prithviraja (c) Pampa
Raso

D. Rajatarangini (d) Banabhatta

1) A-d,B-a, C-c, D-Db

2) A-d,B-c, C-a, D-b

3) A-b,B-a, C-d, D-c¢

4) A-b, B-d, C-a, D-c

The period before the discovery of the
art of writing is:

1) The prehistoric age

2) The ancient historic age

3) The medieval historic age

4) The modern historic age

13
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QTR

FENTIYNSY TOOIRN IROQDTLINTT
LOITNE THOTRY, 0%, SRR

A, TR 308 (a) won®
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B. Q3=wwors Qe (b) 3o
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1) A-d, B-a, C-c, D-Db

2) A-d,B-¢c, C-a, D-b

3) A-b,B-a, C-d, D-c¢

4) A-b,B-d, C-a, D-c
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38.

39.

40.

The purpose of burning the forests in
post Rig-vedic period was:

1) Construction of houses for living
2) Creating war fields
3) Building trade centres

4) Creating land for agriculture

Identify the statement which is related
to the Mesopotamian civilization:

1) Mesopotamians script is called
hieroglyphics

2) The custom of worshipping the
ancestors was popular among
Mesopotamians

3) The Mesopotamia is an area that lies
in a valley between two rivers

4) The Mesopotamians had learnt to
make various objects from porcelain

Read the following statements and
choose the correct alternative:

The period of Pericles is called as the
Golden age of Greece.

During the time of Pericles art,
literature, science, philosophy and
other fields of knowledge flourished.

1) Both A and B are false.
2) Ais false and B is true.

3) Both A and B are correct but B is
not correct reason for A.

4) Both A and B are correct and B is
correct reason for A.

38.

39.

40.

14
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41. The statement which is related to
Jainism is:

1) It taught five vows and three
principles of behaviour.

2) It preached the eight fold path for
eliminating desires.

3) It rejected the existence of God
completely.

4) It completely rejected the concept

of Karma.

42. Identify the empire which is shown in
this map:

ARABIAN |\

SEA BAY OF BENGAL

YRS

" oco
.

CHOLOLAS

L .
INDIAN OCEAN ZQ\I-MKA

1) The Gupta empire

2) The Vardhana empire
3) The Maurya empire

4) The Kushana empire

NMMS-SAT-P2 (K-8)

41. z%a% zsmr% TOWORAT JeLE:

1) 2% DR I IEBYICH THEW
QOHTATR, BRCHAT.

2)  ©A0DH DWOFWN WTYONT [IONE 3
BREQARD.

3) momprormon T[T QTVDFORND,
QTOBORA.

4) TIF %m@osmo& TOTPERF TN
QTOBOR.

42. 3 SPIoNY I3RC0ATIT TWTRWEZIY,

moHSa:
g,
« Bomemvotf. LR
segmg A (L
: o SmmA NN Ve
CETATER R AETNNTT mﬂ@s
S T e P
& cwitan T LD name
PR~ N o
s o
sogemang | g
St -
o womYEng
0
-0 >
0
RS '
- y
wons Bmmie | I =

1) T =
2) SIS DRI
3) =PodF DBIE,

4) I WIPK,
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43.

44.

45.

The inscription useful to learn about
achievements of Samudra Gupta:

1) The Maski inscription

2) The Allahabad pillar inscription
3) The Sannati inscription
4) The Meharuli pillar inscription

Read the following statements and
choose the correct alternative:

A. The Kushanas were basically from
a Nomadic tribe which had
migrated to India from Central
Asia.

B. Kanishka was the founder of
Kushana dynasty.

1) Aistrue and B is false

2) Both A and B are true
3) Ais false and B is true
4) Both A and B are false

Identify the trade centres during the
Shatavahana’s period:

1) Karle, Broach, Kalyan, Birar

2) Bhatkal, Kalyan, Banavasi, Kanchi
3) Nasik, Kalyan, Broach, Bhatkal
4) Nasik, Karle, Srikakulam, Sannati

16

43.

44.

45.

AS0T IS WPReR Wi a@ma@goa
DT00DTRMTE TOXT:

1) =03 2033

2) ©oTRT ROP TII
3) =@ AT
4) Hozced B0y AT

NI m%ﬁ%ﬁdsﬁl L BOS»T 3033&71@534
TR

A. BTJTTY [NV maj?s &)ms@od
mdé@ ROZ 0T BF0 WRRONTTL.

B. =A% $:E B3 mTIs,

@

1) A z0 3 By

2) A3 BadaEe x0
3) Azg =% Bxo
4) Az Booae 3

PTTTIT POT T/FTT  FEOTNYRY,
o

1) wdF, Spes, e, Weoed®

2) $eY, 3R, wIHoA, F0W
3) AT, TLRET, BN, PUY
4) AT, PSF, TR0, IIJ S
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GEOGRAPHY

46. Identify the factor that provides
confirmation of the spherical shape of

47.

48.

the earth:

1) The equatorial circumference of the
earth

2) The polar circumference of the earth

3) The difference between equatorial
and polar circumference of the earth

4) The equatorial diameter of the earth

When a ship crosses the International

date line from west to east:

D)
2)
3)

4)

It loses one day
It gains one day
It loses half a day

It gains half a day

Identify the boundary that separates

the mantle and the core:

)
2)
3)

4)

Conrad Discontinuity
Gutenberg Discontinuity
Mohorovisic Discontinuity

Lehmann Discontinuity

Use E-Papers, Save Trees
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46. FRNOIN NRCTIFTITWONT aomdsaol
%@céa:‘ps LOTD @oédﬁoﬁl o !

47.

48.

)
2)

3)

4)

BRAMOD AWPEITIT AIVS
ZBRMCH 0D HITI

BRDOD TGEER,Z 3 FNECH
DIFING BT

PRWOD ARVLPBIVIT 3T

STERROTD @oédm%@oﬁa QT0T 8@9303:6:01
s%maocs JPRR RN L3TT:

D
2)

3)

4)

TN 2O @355{1 s@ma@@;gd

BT WOoTWY AJFT @Ez;’a’a’o&
w@mé@@%gd

O VT HIT ITEW, LRI

O VTE OIT TPII, RORIT

aﬁrosoéw@ 2y Feom ﬁfaeﬁfﬁ@aﬂs‘i gésems
mmdcaso&md S

1)
2)
3)

4)
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NMMS-SAT-P2 (K-8)
49. Match List-I with List-1I and select the
correct answer using the code given

50.

S1.

below:
List-1 List - I1
(Rocks) (Metamorphic
Rocks)
A. Basalt 1. Diamond
B. Graphite il. Marble
C. Lime Stone 1.  Quartzite
D. Sand Stone iv. Schist
1) A-ii, B-iv, C-ii, D-1i
2) A-iv, B-1, C-iii, D-ii
3) A-iii, B-ii, C-iv, D-i
4) A-iv, B-i, C-ii, D-iii

Identify from the following groups
which represents Intrusive Igneous rocks:

)
2)
3)

4)

Granite, Diorite, Peridotite, Gabbro
Granite, Diorite, Gabbro, Shale
Gabbro, Diorite, Peridotite, Sandstone

Peridotite, Granite, Gabbro, Rocksalt

Choose from the following which
represents a chemical weathering

process:

1) Frost action

2) Hydraulic action
3) Oxidation

4) Thermal expansion

49.

50.

51.

18

Beg-1 S eyl s, Breod2 ) S9NT
F08e3m TEROHROT TOGIRT HVITI,

BodH=RR:
Ted - 1 w3 - 11
(58ned) (SRTOST
da83ned)
A. 3F3S L 3K
jac)
B. m@w . oxE oY
C. =gy 3y i, Beeed &S
D. 3% 88 iv. BTBD (27)
1) A-u1, B-1v, C-1, D-1
2) A-1v, B-1, C-u1, D-1
3) A-iii, B-ii, C-iv, D-i
4) A-iv, B-1, C-1, D-ii

FPFORBIPNYY wo8TTeD @n, wmsmd
QTRVZT MHOTH:

)

2)
3)

4)

Modes, B 0300w, JOBLeLE T,
Moe3ng

MO, BO3RCTESF, MoLine, TTTLY

Moelpe, B oSRedEyr, [OBme s,
WTREG

TVOWREEETF, MR, MoLiRe, L)

FIFORIYNYY TOZONAT dFOeTTOT
T OB, JIRRWRT, &l TR0

)
2)
3)
4)

LT 30
DeTRIT O
BERWTE FOOIRe
Bye0d VIR
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52. Identify the denudational landform
marked as ‘X’:

53.

54.

1)
2)
3)
4)

NMMS-SAT-P2 (K-8)

52. ‘X’ 8 THROT MTHIATLE PRENLFSN
BRITHTIT, ML

~—
—
—]

Cave
Stalactites
Stalagmites

Moraines

Occasionally, the atmospheric
temperature increases with increasing
altitude, this phenomena is called:

D)
2)
3)
4)

Reversal of temperature
Normal lapse rate of temperature
Vertical Gradient of temperature

Inversion of temperature

Arrange the following types of clouds
in the increasing order of their height:

()
(ii)
(iii)
(iv)
1)
2)
3)
4)

cumulus
stratus
cirrus

nimbus

v, 1, 1, 1
1, 1, 11, 1v
, 1v, 1, 1

i, i, iv, 1

Use E-Papers, Save Trees
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Dy
2)
3)
4)

s

©9TWBRCE TOAW
3800% 303

30 QIO

305y D3eT FOWINEY T HFTHRONR
TRCINTLOTVOT YOTPOTTR BT TeRLIT.
81 T30y, Sert FSHRNT:

)
2)
3)
4)

NITPOST %omg@é’
TOTOTED YVUTYOTT3 QPION TT
YRGFEND WOTWOTT BRI

mmwoszj RNTONEOD

FUTOW SRCTRNY é)z;neéss& ORINY %aé%%dow
DITT SHTT S R

)
(i)
(iii)
(iv)
1)
2)
3)
4)
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POLITICAL SCIENCE, SOCIOLOGY TOHEIVY, TRRWIY, ST HJ)
ECONOMICS & BUSINESS STUDIES ST STONT

55. The word ‘Public Administration’was  55. "TSr&dE SRYS Q0w TWERY, WenwLROR
used for the first time by: WBATTTL:
1) Alexander Hamilton 1) @6@0@0"‘ TRV
2) Socrates 2)  AoBLex”
3)  Woodro Wilson 3 RBR T
4)  Luther Gulick 4)  oRET RNOT

56. Any member or chairman of the Union  56. 3cog dnesieme wcleens clemde B85
Public Service Commission can be PR @qﬁsgdasel DRFRI0H ST 7903
dismissed on the ground of misconduct SR SRWE WRFTI, TBRONTHITTL!
by the:
1) Prime minister 1) Bpes =vogneh
2) President 2) mw e
3) Cabinet Secretary of the central 3) #coq RTorTn RO FTICDFTIFNW

government 4) RoROCH FFTONY FOYED

4) Parliamentary affairs minister

7. Politics was given the status of an 57, ToxzezE womd FIoZ NREE MTVIRE
independent science by: &ra&gswdo
1) Greeks 1) nesH
2) Persians 2) WOFODIT
3) Indians 3)  PO8o0N:
4) Egyptians 4) SRR

58. ‘“Anation can be identified throughits 58,

human rights”. This is a statement by:

1) John Locke

2) Rouseau
3) Voltaire
4) H.J. Laski

20

20T m&wm e.-aebs VS DI ] asme;
TDNROT rbda.%ao%ocﬁo” DOTH %c@wwdo

1) =50 oo

2) cwke
3) WS
4) . 8 ooy
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59.

60.

61.

62.

A carefully planned training provided  59.

to the employes under expert guidance
is:

1) Departmental Training
2) Long term Training
3) Pre-Service Training

4) Formal Training

Arurallocal government body thathas  60.

all the voters of a village as its members
is:

1) Grama panchayat
2) Taluk panchayat

3) Grama sabha

4) Zilla panchayat

The sociologist who is called as the  61.

founder of ‘““Class struggle theory” is:
1) August Comte

2) G.S. Ghruye

3) Emile Durkheim

4) Karl Marx

The origin of the word culture, ‘colere’  62.

is from the language:

1) Latin

2) Greek
3) Hebrew
4)  Sanskrit

21
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TOrd3T WRnrEITITY gsm% 3o
BP0 hHedd JOBTOR wWHRNT= STLeI0%N:

1) awoam 3Ted
2) QeTormod 303
3) Heww [pmE 302368

4) BBw008 30

MFT PIOTYTR, 3\, BTZII/N
LENRROT MRENErd PCCH TTET XOZ;

1) oz Joweone
2) ZpORP TOWONS
3) o Ry

4) B TOWOWE

‘HoFR e Acr%oscs TFSFFTY Q0T
sdoﬁgmw D35 mz%
)

1) onz B
2) BRF. TOODE
3) Q9 BDFO

4) WS JPTE

‘3%59’ NOW TTT TDRVTT, BROTE” HOW
TWY) B3 POROWOT WORT:

1) o
2) new®

3) &cww
4) #om 3
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63.

64.

65.

66.

One of the following is the ‘Unwritten’  63.

rules and regulations related to Social
Institutions:

1) Law
2) Ethical Values
3) Government

4) Courts

Sale of a watch is classified as an 64.

economic action of:

1) Production
2) Consumption
3) Exchange

4) Distribution

Per capita income is obtained by  65.

dividing National income by:

1) Total population of the country
2) Total working population

3) Area of the country

4)  Volume of the capital used

The largest contributor to the National  66.

Income is the:

1) Primary Sector
2) Service Sector

3) Secondary Sector

4) Industrial Sector

22

TOWIRWT ﬂoﬂ@n’@ﬁ ToWoHAWOZ B3
FINTINLY 2,000 ‘WODNIT’ Qe AOHTHTNT:

) 3D
2) 338 IPOAD
3) =wrd

4)  TO3ROODD

NRCIVTT TTIF) TSNS WOTH SRS
2380TE3FOITNT:

1) ooeess
2) PR
3)  QTOB
4) DITH

m&%@oﬁ: esmoi:ﬁa’ool QWOOTW NPNATN
SCRTCH BRTBF)TH:

1) Desd ewd) w370,
2) ) TORFATI wIFOD,
3) T3 et P I3

4) WYTUIT WOBET TWFIIOED

Uaaé)eoia wmoﬁa% (OF) d.@cg BRTON VT
TOO%N:

1) 3N TOoD
2) Ao RO
3) Q2o B[OoD

4) BDReNT TOOD
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67.

68.

69.

70.

A number of land reform legislations
have been introduced by the Government
of India for the purpose of:

1) Collecting revenue on the basis of
production

2) Providing tenancy security and
ownership rights

3) Providing revenue collection
authority to zamindars

4) Providing property rights to the
farmers

The stage of evolution under which
people started living in a fixed place is:

1) Agricultural stage
2) Pastoral stage
3) Handicraft stage

4) Money economy stage

To avoid unethical practices in business
the government has introduced:

1) Insurance policy system
2) Marketing system

3) Public distribution system
4) Financial Aid system

Identify the Merits of partnership
among the following:

A. Easy to form
B. Own capital
C. Simple dissolution

D. Sharing of Business loss

1) A,BandD
2) A,BandC
3) A,CandD
4) B,CandD

67.

68.

69.

70.
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BPOUS TTFOR) TONR) PR TIHTR
wmmmq RORRPVRAT. JTWT YuTies:

1) ©w=adod <508 Hed Fomod
DODRY

2) Redmoson HLWWTYOD FTT @B
PO WHEIIT BFIY, LINROYTID

3)  WWeTYTON FOTROD B[RRSO IPWT
ORTITII), DCTWTYT

4) IEOR sA0H BT TIH DI

SRTRTE 2,00 JNFF FReBTY TRADZHTY,
TRTORAT VFTRT TOS:

) Sempodhs 03

2) T8 ToTWOD IO

3) VIO TRFNY TOI

4) BT OFPFBBHOD TOF

ICTY OF3F [WIT TH IR
Srodhen [T TARA 0T T

1) Q=@ TG

2) RpodBEd TGS

3) =OTERIT DITH TG
4) ©hFE 0k TGS

8 FSNTYNYY TPLoMeE WRBTRONTRY,
moo3:

A, Doy TES

B. 303 wommed

C. =0 Qmzes

D. =000 IEE 30w

1) A B=3D

2) A,BxayC

3) A,Cx33D

4) B,C== D
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MATHEMATICS neds

71. The perimeter of an equilateral triangle 71, ;.00 z=zs s BIES 4550.20¢

is 45cm. The length of each side is: SNT. VTT FS WBAT YOT;
1) 10cm 1) 103o.cxe
2) 12cm 2) 12 %o.cwe
3) 15cm 3) 15XFo0.&0e
4) 45cm 4) 45 F0.e0e

72. In the figure if AKLM = A PQM, then 72, 23359 AKLM = A PQM, <58 ‘X’ 8:
the value of ‘x’ is:

K

L
1) 3 2) 4 1)y 3 2) 4
3) 6 4y 7 3) 6 4) 7
73. In the figure AB||CD. The measure of 73. %389 AB||CD.sx8 LAEC o ©¢3:
ZAEC is:
A B | A B |
109° 109°
E E
115° 115°
C D C D
1) 100° 2) 112° 1) 100° 2) 112°
3) 136° 4) 142° 3) 136° 4) 142°

24
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NMMS-SAT-P2 (K-8)
74. The median of the scores 74. B3 TRFTOINY a"nz;%o%

40, 52, 34, 47, 31, 35, 48, 41, 44, 38 is : 40, 52, 34, 47, 31, 35, 48, 41, 44, 38 :

1) 40 1) 40
2) 405 2) 405
3) 41 3) 41
4) 61 4) 61
a b 6o See a 1-3x 6y ? .
75. If \EZ(EJ , then the value of ‘X’ is: 75. \/%{gj , 8T8 X’ R B3
_1 1
D= Do
1 1
) 5 ) 3
3 3
3) 5 3) 5
2
3 4 -2

76. ©3en BSRR FTNOT BBNRR YTIR DTS
5:7 =33, 3e30 O0:

76. The ratio of cost price to selling price
is 5 :7. The profit percent is:

1) 10 1) 10
2) 20 2) 20
3) 25 3) 25
4) 40 4) 40

25
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77. In the figure ZAOB and ZDEF are: 77. w29 ZAOB =3 ZDEF neb:
B D B D
Q % Q %
V. < N &
A 0 E P 0 E Z

1) Complementary angles 1) =weos 3eeInsd
2) Supplementary angles 2) TOTRTT ZeeIND
3) Vertically opposite angles 3) BomREwd 3ReIRW
4) Adjacent angles 4) TIF FREIAW

78. A 3 x 3 magic square is constructed  78. 2 Oom 18 T [TNT TZ> ToLBNETy,

using even numbers from 2 to 18. The pozedeend 3 x 3 S5vcse (RFIR, SR,
magic sum is: WTT SR RZRT:

1) 30 1) 30

2) 36 2) 36

3) 42 3) 42

4) 48 4) 48

79. The number of boys and girlsinaclass 79. 2.0W> ITMICOT nows =Ty, Tedy

is in the ratio 7:5. The number of boys $E ORI 75 ©NG. Row DY
is 8 more than the number of girls. The Boa303n Beay TE BogBNoe 8 RN,
total number of students in the class is: IORICPYT Wiy, RGNS Boss;

1) 38 1) 38

2) 48 2) 48

3) 56 3) 56

4) 64 4) 64

26
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80. A seven digit number is represented  80. ©¢> wosn¥ Tosd 35A2479 snwy,

81.

82.

as 35A2479, where ‘A’ is a digit. The
seven digit number is exactly divisible
by 11. The value of ‘A’ is:

D
2)
3)

4)

4

5

)

33 N WoINS 50@3503;: 11 20T QTN
Pen=em3E. Tmad ‘A’ B

®BOY ‘A’ 2.0TH eao:.%oﬁaaaoZ T2RARZEST.

1) 4
2) 5
3) 8

4) 9

A person sold a table for 32250 and  81. ) FFoko wowh dewy, I2250 § IO

gained one-ninth of its cost price. The
cost price of the table is:

D)
2)
3)

4)

<2010

32015

32025

< 2750

WD BROT WASCH 2.OPTRE LOTTTY, g3
TRECINTIN. ToMTT e dROR BS:

1) %2010
2) %2015
3) ¥2025

4) %2750

If /1+2—7=1+E,then the value of ‘m> 2. [+ 27 ;0™ woon. ‘m’= 3
. 169 13 169 13° ’

1S:

D
2)
3)

4)

1 1
2) 2
3) 3

4) 5

27
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83. The value of 6.25%x6.25-1.75 x1.75 js: 83. 6.25x6.25-1.75 x1.75 QTS 23e3:
4.5 4.5
1) 45 1) 45
2) 6 2) 6
3) 8 3) 8
4) 109 4) 109

84. One third of a number when added to 84. om» 30335033 SONRTRC &Odd%% m&

1 gives 5. The number is: 3RRWeN 5 ©MH3W. TmET & Bod!
1) 12 1) 12
2) 13 2) 13
3) 14 3) 14
4) 18 4) 18
atb a_ c @
85. If %=2and%=3,then value of e is: 85. B_zandg_3’ $WI L. o WS
3 3
2 2
3 3
4 4

28
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86. In the figure the value of °x’ is: 86. u¥3xY ‘X’ T B

1) 100° 1) 100
2) 120 2)  120°
3) 1300 3) 1300
4y 140° 4)  140°

87. Inthefigure AB| CE and CD|[EF. The 87. %35Q A B || CE =3 CD|[EF ¢33 “x’

value of ‘x’is: S B33
B B
40° 40°
E AN AN E N\ N
X F % F
65° 65°
A C 7 [)' 7 A C 7 D' 7
1) 115° 1) 115°
2) 135° 2) 135°
3) 75° 3) 75°
4) 105° 4) 105°

29
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88. Taking only the positive roots, the 88. #czo® TEeSE BONER, Tonedawen,

value of \/41_ ’21_’_ [19_\/5 is: \/41_ ’214—\/@ ¥WT u3e3:

1) 3 1) 3
2) 4 2) 4
3) 5 3) 5
4) 6 4) 6
89. The factors of (a*+b?*-c*-2ab) are: 89. (a*tb’-c>-2ab) o WZRIrERL:
1) (a-b-c),(a+b+c) 1) (a-b-c),(a+b+c)
2) (a+b-c),(a-b-c) 2) (a+b-c),(a-b-c)
3) (a-b+c)(a-b-c) 3) (a-b+c)(a-b-c)
4) (a+b-c),(a-b+c) 4) (a+b-c),(a-b+c)

2, A ! UL VS !
90. If(x +?j=102thenthevalueof - 90. |¥ "7 )T g o) § 3G

X

is (take only the positive roots): (30 FegE NS IRNIeYO):
1) 8 1) 8

2) 10 2) 10

3) 12 3) 12

4) 13 4) 13
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Rough Work / sy seshe
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Rough Work / s scse
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